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Corrected Answer: 
 

 
These figures depict the proportion of journeys made by five different forms of transport in 
three different nations and the most cited reasons the Canadian individuals travel by car to 
work. It is clear from the graphs that the highest percentage shown on the table chart is for 
car in all countries. 
 
According to the table chart, there is a high proportion of journeys made by car in Canada, 
Belgium and Germany, accounting for about 90%, 72% and 68% respectively. Meanwhile, 
the figure for on foot in Belgium and Germany remained at the same level, representing 
approximately 11%. 
 
While  in the bar chart, the figure for no alternative is the greatest proportion, constituting 
more than 35%. However, the figure for work nightshift is the smallest proportion, 
accounting for only 7%. 
 
To sum up, we could say that the tiniest figure shown on the table chart is for other in 
Canada and Germany, compared with the other forms of transport. 
 
159 words 

 

Evaluation: 
 
 
Great to see your writings again, heba.. seems you’re working hard and improving each time! 
 
Your estimated score is: 
 

Overall Task Response Cohesion and 
Coherence Vocabulary Grammar 

7.5 8.0 8.0 7.0 7.0 

 
 
What you have done really well: 

1. Paragraphing is properly managed.  
2. It is a very good response, just improve upon the edits. Thanks  

 
What you can improve: 

1. Improve upon mistakes related to preposition. 
2. Improve upon use of punctuation.  
3. Improve upon mistakes pertaining to word choice and word formation. 

Commented [ielts1]: for (Preposition is required to 
complete the structure) 
For better understanding please explore the link below:- 
https://www.gingersoftware.com/content/grammar-
rules/preposition/ 
 

Commented [ielts2]: to (Repetitive mistake, preposition is 
required to complete the sentence, please explore the link 
given in comment) 
 

Commented [ielts3]: , (Comma is required to be used here.  
Please explore rules related to use of comma in the link 
given below:- 
https://www.grammarbook.com/punctuation/commas.asp 
Comma is required to be used here, please explore the link 
given in comment) 
 

Commented [ielts4]: considering (The word choice is not 
good, suitable replacement has been provided.) 
 

Commented [ielts5]: (The word usage is not correct in this 
context, so omit it. Revise edit. Thanks) 
 

Commented [ielts6]: (Please relate to comment 5 . Thanks)  
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